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Choose a correct or the best answer for each question (4 281%  — 18 F 5% 3 F 4 05 K £):

( )1
( )2
( )3
{ 24
( )5
( )é
« )7
( )8
¢ )o.
()10
( )1l
( )12
( )13

ABAMBEMRSREANLGTEERARKZ?(A) BB&THF B) EGaTE# (O
R miaad (D) kA8 RAE (B) £k B

L RTFRETEFRTEROGMITHES ?(A) #HE B) £4£ (O TR D) e

# (E) R4

. FIMTERBRELAEN ?(A) Smiatkik B) KEH (C) R#E (D) & (E)

AR

C FHMERERARREAANELET7(A) RTHE B) =& (C) B4 D) 28
DL

i (E) W8k

. 2 #y5(Com smut)£ & F 74748 & B & F & & 7 (A) Chytridiomycota (B)

Basidiomycetota (C) Zygomycota (D) Glomeromycota (E) Ascomycota

CREERAZNAEFRBRRERRATIMELHERMR?(A) BE (B) £¥F 14

# (C) & k44 D) =i (B) R

iR e B it A E S R AR TR R R R AR TR ?(A) Bk (B) 4
(©) &4 (D) £ k%% (BE) &

RTEMT 4T 7S 7 (A) & B) £ (C) £ D) ¥ (BE) A+L

TofELR T EME MBI LA ?(A) Chytridiomycota (B) Basidiomycetota (C)
Zygomycota (D) Glomeromycota (E) Ascomycota

T 7R AT H B AR ? (A) XY (B) XO (C) XXY (D) XYY (E) XXXY

FMAABETE el ToMTHEHR ?(A) BREAR B) MMARAMEEE
8O s hREKR D) AHBEFER B) LA BAKRENRR

FiTERE EEER 2(A) i (B) B (C) km (D) AR G4 (B)
&8

Bk — 4Bk DNA 45 28%8 R0 A% H 88 > FFDNA XS A 5V B 421
H#E 7 (A) 22% (B) 28% (C) 35% (D) 50% (E) 72%
21 e
A8 7 )2 L= 1 g2
B T o) ] AR
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) 16.
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) 18.

) 19.

) 20.
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)22,

) 23.

) 24.

)25
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T 7 f7 & 82 DNA # # & 5 ? (A) helicase (B) RNA polymerase (C) free nucleotides
(D) DNA 4+ (E) DNA polymerase

FoliTEFE G Y 4 RiL15 &R ? (A) acetylation (B) cleavage of signal peptide
(C) glycosylation (D) polyadenylation A A (E)# &7 f# 7 5k,

FofTfemm AR B AR R EEZ 4 7 (A) LMK B) 2 ¥k (OT @i
(D) E#3k (BE) Estmf '

THTH R @B e ELRE2(A)B @i (B) Extai (OT % (D) 8%
W Ftmpp (E) BE%éalp

THfTHERFRGEEANEMAR?(A) AHE B) £&k4F C) B45% D) Bt
* (E) %%

ABETEAERHUG  MELANERBY R GEEME  F LS8R FHIK
#M7(A) BB (B) BBk (C) Mk (D) AFl& (E) B

TRk R Al THMTERE#?(A) TRALELZAEZET (B)
FlASFEIPHI KRS BRI (C) TR FaiK5B 50T A %3k
D) T EEFAHEHLE E) ABERRY 2FLE

HEAYRRT A AN ROBEHRS 7 (A) RE B) 7848 (C) ER (D)
fofie (BE) ALEIF

Which macromolecule is thought to have appeared on earth first? (A) DNA (B) RNA
(C) lipids (D) cellulose (E) lignin

If you find a single-celled eukaryotic organism, which kingdom could it be? (A)
prokaryotes (B) protists (C) fungi (D) plants (E) animals

When exposed to harsh conditions, some bacteria form: . (A) capsules (B)
endospores (C) pili (D) flagella (E) cillia
Some bacteria can pass plasmids from one cell to another in a process called:

(A) binary fission (B) conjugation (C) reproduction (D) infection (E) locomotion
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() 26. Which phylum of coelomates does not have segmented body plan? (A) annelids (B)
’ arthropods (C) mollusks (D) roundworms (E) chordates
(

) 27. The largest invertebrates belong to: . (A) arthropods (B) amphibians (C)
mollusks (D) reptiles (E) mammals
(

) 28. The only mollusks with closed circulation are: . (A) clams (B) snails (C)
oysters (D) slugs (E) squids

() 29. The largest arthropods appear in:

. (A) insects (B) arachnids (C) myriapods (D)
crustaceans (E) roundworms
(

) 30. Some lineages of these animals evolved to the tetrapods. (A) ray-finned fishes (B)
lobefins (C) cartilaginous fishes (D) hagfishes (E) lampreys
(

) 31. Reptiles that have a distinctive jaw joint are:

(D) snakes (E) crocodilians

. (A) lizards (B) turtles (C) birds
(

) 32. After breaking apart, their cells can reaggregate into a functional body. (A) sponges (B)
(

flatworms (C) salamanders (D) earthworms (E) echinoderms
) 33. Animals that have digestive tract with specialized regions are:

. (A) flatworms

(

(B) nematodes (C) sponges (D) earthworms (E) cnidarians

) 34. Which phyla of animals successfully invaded the land? (A) cnidarians (B) arthropods
(C) sponges (D) flatworms (E) mollusks

(

) 35. They can not pump aerated blood fast. (A) fishes (B) amphibians (C) reptiles (D) birds
, (E) mammals

() 36. Blood flow in the arterioles is controlled primarily by: . (A) heart (B) artery (C)
smooth muscle (D) skeletal muscle (E) valves
()37 aEEMBARSESayEBAE 7 (A) AR (B) £458 (C) AEH (D)
R (E) mE%x
(

)38, FHMT4EE T ARGFLAMNFEE ? (A) ovule (B) archegonium (C) antheridium (D)
sporangium (E) 2A_E % JE
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B EHETIEKAAE A4 TRARNTIME 2(A)NESHEY (B)EY e
B (O)EEHHy D)EFE+REHY (B) RELW

T oM B A sk m kAL S B AME N L& TR EZ RS ?(A) terpenes (B)
starch (C) chitin (D) steroids (E) ATP

Tl H B AR B A e e £ Z 4 7 (A) terpenes (B) starch (C) chitin
(D) steroids (E) ATP

tb#t DNA #2 RNA /8 £ 55 (A) A KRR 4#4E4EE (B) DNA & #4845 F @ RNA
A& %8425 F (C) A4 DNA 4 Thymine @ RNA £ (D) R4 RNA # Uracil
DNA & (E) *E% 2

FTrE—EEAREKTHAATHS T A—ERS?(A) & B) HiLd (O
i (D) A (B) &

FBRTHERKAEEFTANG 2/ RTRGELMEMA?A) Rk (B) BT
#r (C) £78 (D) mfp ey F3ER (BE) AR WmieEE

MR As (A miBa AR B) mhi ey Timpmk (C)
AR LT EM D) RESEmpyiEdT457F (E)B#C

KagTFAATHEF R FiE @i ? (A) osmosis (B) diffusion (C) facilitated
diffusion (D) active transport (E) transport by the sodium-potassium pump

BEGRELGLEHEEA T (A) AEER B) FRERE O BXAHTE
wkd (D) BEERR (B) mE®

%7 fx(amoeba)ifh R ta H 49 L B H X4 B | (A) endocytosis (B) exocytosis (C)
phagocytosis (D) pinocytosis (E) Ag2C

TIMTH Bl A 4R M TR ? (A) %M B) HAKE (O @i (D)
K (B) fmpapt

WP oyl R % 2 b7 R ? (A) crossing over during meiosis (B) random
fertilization (C) independent assortment (D) all of the above (E) only A and C



